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BRREINBETEHES 55 H K B
R A |Bih@ET U=E=&300B 20 Ay (IS BXIE A # =
§ B ER FEI X 0.9%3 (TFiLIBHE) 2.70 m
XM B XEZBMEILZIILEE - EIHEIRESE
R C |UFELT MEE L=7.0m KEXRATH., ZEm # =
-+ T
il 3 R ) 0.4%7.0 2.8 m3
CoHuiE L ®mB AD 0. 06%7.0 0.42 m3
CozAnIe T B oMk L+ EE BE AL IR 0.42 m3
AAEBR T8 EBEWREZD| 0.4x7.0 2.8 m2
HmEtE TEE 0.5%7.0 3.5 m2
- JKEREHT
UFiE 7 es 300B% 4 7 L=0. 6m/77kg/A 70 m
. 10mZ 7= Y (10/0. 605=16. 5)
UFBAAR 3008 16I.n5/1o*7.0 12.0 {&
o 10m& /=Y (10/0. 605=16. 5
KERZE 1723008/ 16I.n5/1o*J7.(0/ : 12.0 {&
HREF =100 RC-40 e oy 010500 3.50 m2
RBEI|E/L—N2% - BE XILAFER-2, 38H ¥ E
REBEE/L—JL 1ton A2 E IWAREEEME~XBCET 75.0 m
(B#MEW - X
BRBEINBETEHES 6 5 B K B
R A |BihwET U=E=&300B AR # =
§ B ER FEI X 0.9%4 (TFiALIBHE) 3.60 m

XM D

XEZBEMEILZIILEE - EIHEIRESE




BERAIBEHEE 158 & #XkB 1)
R A |tBEo#E L=15. Om UTFi%360B g /E0. 2m W B
AFERIR 8 0. 36%0. 2%15. 0 1.1 m
Bt -BR BEWED BELROGZNLEESE .1 m3
X B |(BSKBRERE L=5. Om U =FiB360B (R kEFI/A) B E
- tT
AFERIR 8 0.345.0 1.5 m3
ASER T HEWED | 0.345.0 1.5 m3
E@tt +HBE 0.6%5.0 3.0 m2
- KBTI
USFBB®R(AN) | 360B%Z4F | 1.02/0. 6m/96ke 5.00 m
USFBHRE(AA) | 360B&ZAF | 1.02/0. 6m/96ke 5.00 m
P———— 1:0.3 10024 7=) 0.36:0.02+10-0.07 008 m
HREH =100 RC-40 SR 610560 2.80 m2
REI|ANERT XNERSEESE % B
INE R MEyO-5—An| BREEH,SREBMEET 90.0 m
(NBIH O—S5—173m)
X Cc |THRI GEH) L=34. 5m B E
CoHERiE L mEr AH 2)9[{15%“6:)329.53*0.05*10.0:0.15) 0.52 m3
Cosx i 3] 15 51 ik -+ EE B AL B 0.52 m3
avyy—+h o ok=18N/mm2 | (0T 0.9+0-10410.020. 30 1.04 m3
B ##+t=10mm BEEEMIR | ioas 0 010-0/100.09 0.10 m2
REI|ANERT XNERSEESE % B
INE R INEH O—5—%| BEEREEH SRR CHMtEET 25.0 m




BRANIBEHES 158 & kK @
R D |[EFTHRT (EH) L=18. 6m B500 (F£5) ¥t 100 B E

UEE (EH) " UFiE360B (FramfE )

HEXmI > (EH) " BI6O (F19) *t 150 (F19)

ERTERILY Y- b
CoEni® L WA B 0.02%18. 6 0.37 m3
Comy Al 38 37 1551 ik -+ 2 R AL 0.37 m3
avyy—k o ok=18N/mm2 | (ORI Y (0.5+0-10¥1050.50) 0.93 m3
B #h 44 t=10mm WS iR (1)08?/%31 éOGS*O 10%10/10=0. 05) 0.09 m2
- UFIEER
HHLERIE ) 0. 3+18. 6 5.6 m3
) RC-40 #:&4/850| 0.3+18.6 5.6 m3
£mEitE TRE 0. 6%18. 6 1.2 m2
UFiBHeR 360B% 17 | 1.0%/0.6m/96ke 18.60 m
USRIk 3608 e a0 005169 31.00 {&
BE LA 1:0.3 (1)08?/5)3129636*0 02%10=0. 07) 0.13 m3
R =100 RC-40 ey 10560 10.42 m2

-ERXRmIVIY -+
CoHRi L mE5 MW | 0.16+18.6 2.98 m3
Comy Al 18 37 1551 ik -+ 2 R AL 2.98 m3
avyy—k o ok=18N/mm2 | |07 Y 0 9015105139 2.51 m3
L e LR iosta 6 279 m
FUELIRE | BEMEEET | s 5.58 m2
e #213mm & 50mm | a7 Y (10.0/0.3+1=34.0 63.00 R
£ #5013 SD345 ;0187%1“639615*34*0 995=5. 07) 9.43 Kg

RET|AERT X ERSEESE % =

INE MY -5 —%| BEBERS S KMDPRES T 25.0 m




BBENHETFES 158 &8 BEXKEB @
R E |(ARBER 18P B700 xB700 x H1100 # )
T T TIRAIERL=2.OnfEE L LTEH
AR I T 2.0%2.0 4.0 m3
CoHiE L mER MW 0.07%2.0 0.14 m3
ComkAnx8 | B R+ B AL TR 0.14 m3
HBER T #BEWEE| 1.3%x2.0 2.6 m3
HETE TEE 1.1%1.1=1.21m2 1.2 m2
- Bk
1. 0x1. 0%1. 1-0. 7%0. 7x1. 056—
arvyl)—+F o ck=18N/mm2 [0. 8+0. 8+0. 044-0. 36+0. 36+0. 15- 0.49 m3
0. 36+0. 50%0. 15-0. 386%0. 193%0. 30
1. 25%1. 0xd+1. 206%0. T4-0. 36%0. 36%2-
. . 0. 36%0. 5%2—
B o# INE 0. 3860, 342+0. 36%0. 15%3+0. 50, 15%2+0. 8.01 m2
36%0. 15+0. 193%0. 15%2+0. 386%0. 15
M t=150 RC-40 1.1%1.1 1.21 m2
gL—F245 700%«700FH T2 (5 LiA#A) 29. 6kg/#K 1.00 #&
REBEI(AHERT XMNEWRSERSR # )
INEH Ny O—-5—-%F| BRERNSEBEIEET 40.0 m
REET[/IERERELTT XNERSERSR 28 B =
- Bt BIEERRMN L DEALEE L=4. Om
BT - HWE wmAL 1.8%4.0 7.2 m3
FBEt-2 PhigEs  L=7. Om
BT - W& wmAL 1.7%7.0 11.9 m3
g 19.1 m3




BRANIBEHES 258 K KB O
KR A |KEAERR L=2. Om U %3608 % B
c+T
HHLERIE ) 0. 4%2.0 0.8 m3
CoHRiR L | W 0.04%2.0 0.08 m3
Comy Al 38 37 1551 ik -+ 2 R AL 0.08 m3
) FAL WEMED| 0.4%2.0 0.8 m3
£mEitE THE 0. 6%2.0 1.2 m2
- UFBEH
Ui 360B% A7 | 1.0%/0.6m/96ke 200 m
UF A 3608 TR 3.00 {&
SEILSL 1:0.3 0nc ) 0 360, 024100, 07 0.01 m
HREH =100 RC-40 e 2610560 112 m2
R T|ANERT X ERSEES R % =
INE MY O -5 —%| BRERS SRMAMEET 50.0 m
R B (HRKBERE L=6. 9m UTH60B (RAEHA) , WHmk | % R
RERERHAFRARAER L=3. Om
- JKEET
ASIRIR ) 0.3%6. 9 2.1 m3
ANER 18 HEWAD | 0.4%6.9 2.8 m3
£mEitE THE 0. 6%6. 9 41 m2
FEE BAL (LR | 3.4-2.7 0.7 m3
UFBBE(AA) | 360844 F | 1.07/0.6m/96ke 6.90 m
USiB#hE (AA) | 360B&%4F | 1.07/0.6m/96ke 6.90 m
HEILS L 1:0.3 om0 360, 024100, 07 0.05 m3
HREH =100 RC-40 e g 610560 3.86 m2
KEE = 1%8360BF Ttz ) (10/0.606=15.5) 120 1@
- RAEET
ATIRIR ) 0.2%3.0 0.6 m3
ANER 1R WEWAD | 0.253.0 0.6 m3
£mEitE THE 0.2%3.0 0.6 m2
XL £=200 1. 8%1. 04443, 0 5.64 m2
SR TF LU EHE ¢ 250 551 i+ 2 BRALIE 5.00 m
R T|ANEHT X ERSEESE % =
INE MEyO-5—+An| BERERSSRMBMHIEET 110.0 m

(RS O0—5—100m)




BRI BEMNEE 258 & HBKE 2
X Cc |BimEeT U=Fi#360B 18&F/T 4 =
BiiHEER REIE 1.08+1 (T HUARIEME) 1.08 m
KEREMEILZILEE - EIHEFEESE
K D |tHEo#E L=3. 5m U450 FH#EE0. 35m B =
ANSERIE T8 0. 45%0. 35%3. 5 0.6 m3
Bt - 1BR EEED BELHOBZRNLEEE 0.6 md
X E |BimET U=Fi&450 AR (FR IS B8 AT) | B
s BitdBER FEIE 1.35%8 (T HRARIEME) 10.80 m
XME H XEIEBEHELZIILHEE - MIREFHESHE
XM 1 |BMmeT U=Fi&450 SE R (M ISR ALE ) 4 =
s BitdBER FEIE 1.35%4  (THUARIEME) 540 m
R K XEIEEHELZIILEE - MIREFHESHE
KM L |BESRKBERE L=9. 5m U 8450 (A AEF A) B £
-xT
WK IR T8 0.4%9.5 3.8 m3
BR T8 BEWMRAD | 0.4%9.5 3.8 m3
ZEit L TRE 0.6%9.5 5.7 m2
- KEET
VES: ¢ 53¢ 7)) 4505 A 7 1.02/0. 6m/120kg 9.5 m
VES: £iE:3¢ 7)) 4505 A 7 1.02/0. 6m/120kg 9.5 m
HELAIL 1:0.3 3?’35{3:{,52-43*0-02*“’:0-0‘” 0.09 m3
HREH =100 RC-40 B g 2010630 5.99 m2
R &R T | HE T M o A % B=2.0m. L=7.1m B B
Bk tR 914%1829%22 289kg/#& 3.0 ®
Bk tR M ER ®E - W= 0. 914%1. 829%3%¢ 50 m2
Bt WAL (0. 3m2+0. Tm2) *B2. 5mig THEE L 2.5 m3
B A 1. Tm2+B2. 5mig THEE L 4.3 m3
2t T8 XEEHY 2.5 m3
BR BREER 4.3 m3




BBENHETFES 258 8B KB @

R M |[ElRxB#EES (B 1. 0&FRr ¢ 100718 & # )
BrEMHE T £=200mm A=0.008m2 (T HhALIENE) 0.01 m2

Ef N |(BitwEeT Uzei#450 &/ # =
B ER FIETE 1.35%1 (TFHRLIBQHE) 1.35 m

XEZBEMEILZIILEE - EIHEIRESE

Bl o |TBEn#EE L=7.Om U450 #FEEO. 45m # =
AR T 0. 45%0. 45%7. 0 1.4 m3
Bt -8R EiEYER BELROSRNLEBEE 1.4 m3

R P ([TRHEOHE L=4. Om UFE450 FHHFEE0. 30m # )
AR T 0. 45%0. 30%4. 0 0.5 m3
Bt -8R EiEYER BELROSRNLEBEE 0.5 m3




BE®RAWNBREFES 3E#H ® BB )

XM A |BHi#EEeT BUIRITLEY K BR H =B

EhR B A EIE R FEIE 0. 45+0. 3+0. 35 .10 m
XEREHE - SRETEIIHES R

XM B |B#EeT BUIRITLEY KR H =E

EhR B A EIE R FEIE 0. 38+0. 3+0. 3 0.98 m
XEREHE - SRETEIIHES R

XME C |KBBFEER EH - BEF n E
Cl| k#KEEI- .10 m
#Baro)—+ o ck=18N/mm2 1.29x0. 7%0. 1 0.09 m3
Gl i e L 1.29%0. 1% 2 0.26 m2

1.19%0. 65%0. 6-0. 89*0. 5x0. 3-
avoy—+k o ck=18N/mm2 [0. 155*0. 309*0. 3- 0.29 m3
0. 339%0. 5x0. 17

e [ELERSISS | e
KB I-2 0.74 m
#Bazro)—+ o ck=18N/mm2 0. 74%0. 7%0. 1 0.05 m3
Gl i e L 0. 74%0. 1% 2 0.15 m2
avyy—+ o ck=18N/mm2 (0. 6x0. 55-0. 3-0. 4) *0. 74 0.16 m3
Gl i e INRY (0. 55%4) %0. 74 1.63 m2

C2| RAEWBKE Kigtzr4—K L=8.3m H =B

T KR LIXCOEATEIZERA
AR A T 0.4%8.3 3.3 m3
T PR YR TR 0.2+8.3 1.7 m3
BR T8 #BEMEAZ| 0.2+8.3 1.7 m3
EmEitE TRm 0.8%8.3 6.6 m2
- RBEEKE

R ERE t=200 H1.5 1=9.9m| 1.5%1.044%9.9 15.50 m2
kR ERiE t=200 HO.6 L=7.3m| 0.6%1.044%7. 3 4.57 m2
KRV U— b o ck=18N/mm2 0.5%0. 1%8. 3 0.42 m3
EBEF1t=100 RC-40 0.41%8.3 3.40 m2




BERANBEFEFEE 3E® & HAKE 2
C3| BESRUFEEE L=8. 6m (U= ;&300B)
CoHuix L 3 0. 055%8. 6 0.47 m3
ConkAL38 35 159\ i+ EE BR AL IR 0.47 m3
C4|tWEOBESE ATmRE 10001000750 H£FEEO. 25m 4 =
-xT
AR T 1. 0x1.0%0. 25 0.3 m3
Bt R BEYEZ WELROENLEEE 0.3 m3
-fHET
Mg~ )—F o ck=18N/mm2 0. 45%0. 3x0. 15 0.02 m3
Co|lEMEDOHESE L=11. 6m UFig450 HFE/EO0. 45m 4 =+
A AR T 0. 45%0. 45%11. 6 2.3 m3
Bt R BEYEZ WELROENLEEE 2.3 m3
C6| BEEHAET L=8. m ¥ =B
- 1T
Tt PR ATE T 0.1%8.7 0.9 m3
BR T8 BEMEAZ| 1.0+8.7 8.7 m3
EmittE TR@E 0.2+8.7 1.7 m2
Rt KO EFA. FESIZRGRER
- BAE KR
R GEE £2200 H1.3 L=8.7n| 1.3%1.044%8.7 11.81 m2
C7(BER /KB B RE L=1. 3m U Fig450 (R&EEH A) ®H =
UF BB (W) 45052 4 7 1.04/0. 6m/120kg 1.30 m
UF B (W) 4505 4 7 1.04/0. 6m/120kg 1.30 m
WEILAL 1:0.3 (1)085/.{631(2 43%0.02%10=0. 09) 0.01 m3
HEH =100 RC-40 pnite g ( 69x100.50 0.82 m2
EMCc&| MIKRKER SR P E WEEE 35em REHY 3.0 K
(BEEHE) WEEE 30cm BREHY 1.0 &
MESERE 22m 2.0 K
WEEE 20om BREHY 20 K
WEEEZ 18m [RiEHY 1.0 &
MEEZE 12m 1.0 K
MSERE 10cm 1.0 K




BERANBEFEFEE 3E® B8 HEAKE Q
X D |tWFEOEE L=14. Om U=FiE450 HEFE[EO. 45m 4 =
AN HRYE T 0. 45%0. 45%14. 0 2.8 m3
Bt - EBR BiEYED WETHOENNEBEE 2.8 m3
X E |THFOEE- L=15. Om UFiE450 FIHHEFEEO. 25m 4 =
AN RYE T 0. 45%0. 25%15. 0 1.7 m3
Bt - EBR BiEYED WETHOZENNEBEE 1.7 m3
ITHEOREE-2 L=50. Om U=FiE450 HEFE[EO. 45m 4 =
AN RYE T 0. 45%0. 45%50. 0 10.1 m3
Bt - EBR BiEYED BETHOENNEBEE 10.1 m3




R % X EEAE Y EEAE 7 EiF
AT-1 1000. 000 1000. 000  87. 668
AT-1-1 1001. 234 966.907|  87.043
AT-1-2 1000. 314 995.935  88.000( ><{=BM
AT-1-3 1024. 503 1029.546|  86. 744
AT-1-1-1 1029.518 919.815|  87.077
AT-1-3-1 1056. 131 1057. 446|  86. 880
AT-1-3-2 1074.217 1069. 558/  86.567

*EAE R Z ERRER) & RBURA > DERKERE

5 - (ERATE 31 KB (B L)
1S8REKE ®

KEMEOHE L=15.0m
(U=Fi#360B)

1S8R K

MOKBTHERE L=5.0m
(U=i#3608B)

B
AT-1-1-1 ‘

000

v-\n25+>‘_.“

/NEHRL=20m

L=20m

I E B E E . i

$=1/250

XISERPEKES - 2S8R BEKER (—8B)

MNELY O— 5 —BIREELEARREZA.
SCBHIEEORD HET-DEAFRT,
L=10m

(RERE IR
2B BRHIKES
XK ERE (B L=6.9n
XEREAEREERE L=3.0n

&
_EARREL - MK +%
B=2. Om
L=4. o0 25 HHBKE®

MOKEREHT L=2. Om

KIDORMIE, AFNERABE,

0.9
i

/MEHRL=40m

128msks ©
XA TRBMER (F73%)

B700+B700+H1100

970

128Kk (£8) ©

XTIRT (FH) L=34.5m

JNEHRL=25m

JNEHRL=33m

/IMEHRL =90m

HEABIIEEL - BE
B=2. Om
TS ERBKER
(U=Fi#%360B) B=2. 00m
£ HEREIE
% - sy | ROEH HTY EHAR
ke — BRI EEBILAELE
BRE % A 4B
UF#3608 %
ES -k A RBEB AR
& o HE NE® B E
Bt A=1.Tm2 % 8

R 1:250 HEES 00 / 00
E:2
BEEA BERRBRAKER (E8)




